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Section 6.2 Function/Relations and their Inverses
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Use the problems zrom page 396 in your text.

An INVERSE RELATION is the set of ordered pairs obtained by exchanging the
coordinates of each ordered pair.
What is the mverse of relation in #1 and #2 7
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Also, the domain of a relation becomes the range of its inverse, as well, the range of the
relation becomes the domain of its inverse.
What is the domain and range of the inverse of #1 and #2 7
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As with relations we can have an mverse of a functlon The inverse of a function f(x) is
written as f(x) L.
Mathematically we find the inverse of a function by

a. Switching x and y of the function and

b. Then solving fory.

C. The resulting equation is the inverse of the orlcrlnal function.

Find the inverse of # 15-19 and #24+ *26‘5%
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Now graph the original function f(x) and it inverse g(x), for each of the previous
problems on your calculator. Make a quick graph on this sheet for reference. Can you find

the line of reflection for each pair of graphs? Line of reflection. K=Yy
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Now find [f o g](x) and [go f](x) for each function. Where ‘(“) ' hﬁ"“L’L‘ Dt (ﬂ s hyeyse.
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What conclusion can you make about a function and it’s inverse.
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Two functions fand g are mverses of each other if and only if
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Check to see if #27-35 odds arg,functlons using the above rationale.
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